10 by 5 Tenner Grid Puzzles

Use the digits 0 to 9 to fill the cells in the grid. The columns must add up to
the given sums at the bottom. You must use all the digits 0 to 9 in each row,
but digits may be repeated in columns. The digits in connecting cells (also
diagonally) must be different.

0] 8 1 64|32

5] 6 210

2 7,9165]3 8 | 4
6 5 1

14121128 18|19 11|24 11|21 |13

7 91410 2|6

4 8
2 4198|603
9 7 1 ]2
16/ 1012919124 22| 18| 15|11 |16

3 11417 9 6| 2
0 2 6|3

6 4|8 5 0

3 5 7162
1212011925118 17|24|14|21|10
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Answers

Use the digits 0 to 9 to fill the cells in the grid. The columns must add up to
the given sums at the bottom. You must use all the digits 0 to 9 in each row,
but digits may be repeated in columns. The digits in connecting cells (also
diagonally) must be different.

0O/ 8,91 764|325
5016432087 ]91
2111719765308 |4
7/6[8/514]0/9]1]2]|3
142128 1819|1124 |11 |21 |13

50117181914 ,0[3[2/6
049,63 [2,7]1|8|5
2111715(4/9]8,6]0 /3
914160 8|73 |5|1]2
1610129192422 18 |15|11 |16

38|14 ]7]0/9]5]6]|2
07,5912 [8[6]3 4 1
64|83 [5|1,2]0]9]|7
31151914 |8[7]6]2,0
12120192518 172414 |21 10
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